

ΕΥΡΕΣΗ ΟΡΙΟΥ ΣΥΝΑΡΤΗΣΗΣ ΟΤΑΝ $x \rightarrow \pm\infty$ (No2)ΠΑΡΑΔΕΙΓΜΑΤΑ

1.

Δίνεται η συνάρτηση $f(x) = \sqrt[3]{8x^3 + 3x + 1} - 2x$. Να βρεθεί το όριο $\lim_{x \rightarrow +\infty} f(x)$

$$f(x) = \sqrt[3]{8x^3 + 3x + 1} - 2x = \sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} - 2x = \sqrt[3]{x^3} \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} - 2x$$

$$\begin{aligned} x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow \sqrt[3]{x^3} = x \\ = x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} - 2x = x \left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} - 2 \right) \end{aligned}$$

Έχω:

$$\lim_{x \rightarrow +\infty} x = +\infty$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} - 2 \right) = \sqrt[3]{8 + \lim_{x \rightarrow +\infty} \frac{3}{x^2} + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} - 2 = \sqrt[3]{8 + 0 + 0} - 2 = 2 - 2 = 0$$

$$f(x) = \sqrt[3]{8x^3 + 3x + 1} - 2x =$$

$$= \frac{\left(\sqrt[3]{8x^3 + 3x + 1} - 2x \right) \left[\left(\sqrt[3]{8x^3 + 3x + 1} \right)^2 + \sqrt[3]{8x^3 + 3x + 1} \cdot 2x + (2x)^2 \right]}{\left(\sqrt[3]{8x^3 + 3x + 1} \right)^2 + \sqrt[3]{8x^3 + 3x + 1} \cdot 2x + (2x)^2} \quad (\alpha - \beta)(\alpha^2 + \alpha\beta + \beta^2) = \alpha^3 - \beta^3$$

$$= \frac{\left(\sqrt[3]{8x^3 + 3x + 1} \right)^3 - (2x)^3}{\left(\sqrt[3]{8x^3 + 3x + 1} \right)^2 + \sqrt[3]{8x^3 + 3x + 1} \cdot 2x + (2x)^2} =$$

$$= \frac{\left(\sqrt[3]{8x^3 + 3x + 1} \right)^3 - (2x)^3}{\left(\sqrt[3]{8x^3 + 3x + 1} \right)^2 + \sqrt[3]{8x^3 + 3x + 1} \cdot 2x + (2x)^2} =$$

$$= \frac{\left(\sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} \right)^2 + 2x \sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} + 4x^2}{\left(\sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} \right)^2 + 2x \sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} + 4x^2}$$

$$= \frac{8x^3 + 3x + 1 - 8x^3}{\left(\sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} \right)^2 + 2x \sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} + 4x^2} =$$

$$= \frac{8x^3 + 3x + 1 - 8x^3}{\left(\sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} \right)^2 + 2x \sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} + 4x^2} =$$

$$= \frac{8x^3 + 3x + 1 - 8x^3}{\left(\sqrt[3]{x^3} \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2x \sqrt[3]{x^3} \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4x^2} \quad x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow \sqrt[3]{x^3} = x$$

$$= \frac{x \left(3 + \frac{1}{x} \right)}{\left(x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2x \cdot x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4x^2}$$

$$= \frac{x \left(3 + \frac{1}{x} \right)}{\left(x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2x \cdot x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4x^2}$$

$$\begin{aligned}
&= \frac{x \left(3 + \frac{1}{x} \right)}{x^2 \left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2x^2 \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4x^2} = \\
&= \frac{x \left(3 + \frac{1}{x} \right)}{x^2 \left[\left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2 \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} x + 4 \right]} = \\
&= \frac{1}{x} \frac{3 + \frac{1}{x}}{\left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2 \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4} \\
\lim_{x \rightarrow +\infty} f(x) &= \lim_{x \rightarrow +\infty} \frac{1}{x} \frac{3 + \lim_{x \rightarrow +\infty} \frac{1}{x}}{\left(\sqrt[3]{8 + \lim_{x \rightarrow +\infty} \frac{3}{x^2} + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} \right)^2 + 2 \sqrt[3]{8 + \lim_{x \rightarrow +\infty} \frac{3}{x^2} + \frac{1}{x^3}} + 4} = \\
&= 0 \cdot \frac{3 + 0}{\left(\sqrt[3]{8 + 0 + 0} \right)^2 + 2 \sqrt[3]{8 + 0 + 0} + 4} = \frac{3}{3 \cdot 4} = \frac{1}{4}
\end{aligned}$$

2.

Δίνεται η συνάρτηση $f(x) = \frac{\sqrt[3]{x^3 + 3x + 1} - x}{x^2 + 1}$. Να βρεθεί το όριο $\lim_{x \rightarrow +\infty} f(x)$

$$\begin{aligned}
\sqrt[3]{x^3 + 3x + 1} - x &= \sqrt[3]{x^3 \left(1 + \frac{3}{x^2} + \frac{1}{x^3} \right)} - x = \sqrt[3]{x^3} \sqrt[3]{1 + \frac{3}{x^2} + \frac{1}{x^3}} - x \quad \begin{matrix} x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow \sqrt[3]{x^3} = x \\ = \end{matrix} \\
x^3 \sqrt[3]{1 + \frac{3}{x^2} + \frac{1}{x^3}} - x &= x \left(\sqrt[3]{1 + \frac{3}{x^2} + \frac{1}{x^3}} - 1 \right)
\end{aligned}$$

Έχω:

$$\lim_{x \rightarrow +\infty} x = +\infty$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt[3]{1 + \frac{3}{x^2} + \frac{1}{x^3}} - 1 \right) = \sqrt[3]{1 + \lim_{x \rightarrow +\infty} \frac{3}{x^2} + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} - 1 = \sqrt[3]{1 + 0 + 0} - 1 = 1 - 1 = 0$$

$$f(x) = \frac{\sqrt[3]{x^3 + 3x + 1} - x}{x^2 + 1} = \frac{\left(\sqrt[3]{x^3 + 3x + 1} - x \right) \left[\left(\sqrt[3]{x^3 + 3x + 1} \right)^2 + \sqrt[3]{x^3 + 3x + 1} \cdot x + x^2 \right]}{x^2 \left(1 + \frac{1}{x^2} \right) \left[\left(\sqrt[3]{x^3 + 3x + 1} \right)^2 + \sqrt[3]{x^3 + 3x + 1} \cdot x + x^2 \right]}$$

3.

Δίνεται η συνάρτηση $f(x) = \frac{\sqrt[3]{8x^3 + 5x + 1} - 2x}{\sqrt{x^2 + 1} - x}$. Να βρεθεί το όριο $\lim_{x \rightarrow +\infty} f(x)$

$$\begin{aligned} \sqrt[3]{8x^3 + 5x + 1} - 2x &= \sqrt[3]{x^3 \left(8 + \frac{5}{x^2} + \frac{1}{x^3} \right)} - 2x = \sqrt[3]{x^3} \sqrt[3]{8 + \frac{5}{x^2} + \frac{1}{x^3}} - 2x \stackrel{x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow \sqrt[3]{x^3} = x}{=} \\ &= x \sqrt[3]{8 + \frac{5}{x^2} + \frac{1}{x^3}} - x = x \left(\sqrt[3]{8 + \frac{5}{x^2} + \frac{1}{x^3}} - 2 \right) \end{aligned}$$

Εχ ω :

$$\lim_{x \rightarrow +\infty} x = +\infty$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt[3]{8 + \frac{5}{x^2} + \frac{1}{x^3}} - 2 \right) = \sqrt[3]{8 + \lim_{x \rightarrow +\infty} \frac{5}{x^2} + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} - 2 = \sqrt[3]{8 + 0 + 0} - 2 = 2 - 2 = 0$$

$$\begin{aligned} \sqrt{x^2 + 1} - x &= \sqrt{x^2 \left(1 + \frac{1}{x^2} \right)} - x = \sqrt{x^2} \sqrt{1 + \frac{1}{x^2}} - x \stackrel{\sqrt{x^2} = |x|}{=} |x| \sqrt{1 + \frac{1}{x^2}} - x \stackrel{x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow |x| = x}{=} \\ &= x \sqrt{1 + \frac{1}{x^2}} - x = x \left(\sqrt{1 + \frac{1}{x^2}} - 1 \right) \end{aligned}$$

Εχ ω :

$$\lim_{x \rightarrow +\infty} x = +\infty$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt{1 + \frac{1}{x^2}} - 1 \right) = \sqrt{1 + \lim_{x \rightarrow +\infty} \frac{1}{x^2}} - 1 = \sqrt{1 + 0} - 1 = 1 - 1 = 0$$

$$\begin{aligned} f(x) &= \frac{\sqrt[3]{8x^3 + 5x + 1} - 2x}{\sqrt{x^2 + 1} - x} = \\ &= \frac{(\sqrt[3]{8x^3 + 5x + 1} - 2x) \left[(\sqrt[3]{8x^3 + 5x + 1})^2 + \sqrt[3]{8x^3 + 5x + 1} \cdot 2x + (2x)^2 \right] (\sqrt{x^2 + 1} + x)}{(\sqrt{x^2 + 1} - x)(\sqrt{x^2 + 1} + x) \left[(\sqrt[3]{8x^3 + 5x + 1})^2 + \sqrt[3]{8x^3 + 5x + 1} \cdot 2x + (2x)^2 \right]} = \\ &= \frac{\left[(\sqrt[3]{8x^3 + 5x + 1})^3 - (2x)^3 \right] (\sqrt{x^2 + 1} + x)}{\left[(\sqrt{x^2 + 1})^2 - x^2 \right] \left[(\sqrt[3]{8x^3 + 5x + 1})^2 + 2x \sqrt[3]{8x^3 + 5x + 1} + (2x)^2 \right]} = \\ &= \frac{(8x^3 + 5x + 1 - 8x^3) \left[\sqrt{x^2 \left(1 + \frac{1}{x^2} \right)} + x \right]}{(x^2 + 1 - x^2) \left[\left(\sqrt[3]{x^3 \left(8 + \frac{5}{x^2} + \frac{1}{x^3} \right)} \right)^2 + 2x \sqrt[3]{x^3 \left(8 + \frac{5}{x^2} + \frac{1}{x^3} \right)} + 4x^2 \right]} \end{aligned}$$

$$\begin{aligned}
& \frac{x\left(5+\frac{1}{x}\right)\left[\sqrt{x^2}\sqrt{1+\frac{1}{x^2}}+x\right]}{(x^2+1-x^2)\left[\left(\sqrt[3]{x^3\left(8+\frac{5}{x^2}+\frac{1}{x^3}\right)}\right)^2+2x\sqrt[3]{x^3\left(8+\frac{5}{x^2}+\frac{1}{x^3}\right)}+4x^2\right]} \stackrel{\sqrt{x^2}=|x|}{=} \\
& \frac{x\left(5+\frac{1}{x}\right)\left[|x|\sqrt{1+\frac{1}{x^2}}+x\right]}{\left(\sqrt[3]{x^3}\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}\right)^2+2x\sqrt[3]{x^3}\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}+4x^2} \stackrel{\substack{x\rightarrow+\infty\Rightarrow x>0\Rightarrow|x|=x \\ x\rightarrow+\infty\Rightarrow x>0\Rightarrow\sqrt[3]{x^3}=x}}{=} \\
& \frac{x\left(5+\frac{1}{x}\right)\left(x\sqrt{1+\frac{1}{x^2}}+x\right)}{\left(x\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}\right)^2+2x\cdot x\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}+4x^2} \stackrel{=}{=} \\
& \frac{x\left(5+\frac{1}{x}\right)x\left(\sqrt{1+\frac{1}{x^2}}+1\right)}{x^2\left(\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}\right)^2+2x^2\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}+4x^2} \stackrel{=}{=} \\
& \frac{\cancel{x}\left(5+\frac{1}{x}\right)\left(\sqrt{1+\frac{1}{x^2}}+1\right)}{\cancel{x}\left[\left(\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}\right)^2+2\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}+4\right]} = \frac{\left(5+\frac{1}{x}\right)\left(\sqrt{1+\frac{1}{x^2}}+1\right)}{\left(\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}\right)^2+2\sqrt[3]{8+\frac{5}{x^2}+\frac{1}{x^3}}+4} \\
& \lim_{x\rightarrow+\infty} f(x) = \frac{\left(5+\lim_{x\rightarrow+\infty}\frac{1}{x}\right)\left(\sqrt{1+\lim_{x\rightarrow+\infty}\frac{1}{x^2}}+1\right)}{\left(\sqrt[3]{8+\lim_{x\rightarrow+\infty}\frac{5}{x^2}+\lim_{x\rightarrow+\infty}\frac{1}{x^3}}\right)^2+2\sqrt[3]{8+\lim_{x\rightarrow+\infty}\frac{5}{x^2}+\lim_{x\rightarrow+\infty}\frac{1}{x^3}}+4} \\
& \frac{(5+0)(\sqrt{1+0}+1)}{\left(\sqrt[3]{8+0+0}\right)^2+2\sqrt[3]{8+0+0}+4} = \frac{5\cdot 2}{3\cdot 4} = \frac{5}{6}
\end{aligned}$$

4.

Δίνεται η συνάρτηση $f(x) = \sqrt[3]{8x^3 + 3x + 1} + \sqrt{25x^2 + 5x + 7} - 7x$
 Να βρεθεί το όριο $\lim_{x\rightarrow+\infty} f(x)$

$$\begin{aligned}
f(x) &= \sqrt[3]{8x^3 + 3x + 1} + \sqrt{25x^2 + 5x + 7} - 7x = \\
&= \sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3}\right)} + \sqrt{x^2 \left(25 + \frac{5}{x} + \frac{7}{x^2}\right)} - 7x = \\
&= \sqrt[3]{x^3} \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + \sqrt{x^2} \sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} - 7x \quad \begin{matrix} x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow \sqrt[3]{x^3} = x \\ \sqrt{x^2} = |x| \end{matrix} = \\
&= x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + |x| \sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} - 7x \quad x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow |x| = x = \\
&= x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + x \sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} - 7x = x \left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + \sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} - 7 \right)
\end{aligned}$$

Εχω:

$$\lim_{x \rightarrow +\infty} x = +\infty$$

$$\begin{aligned}
\lim_{x \rightarrow +\infty} \left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + \sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} - 7 \right) &= \\
\sqrt[3]{8 + \lim_{x \rightarrow +\infty} \frac{3}{x^2} + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} + \sqrt{25 + \lim_{x \rightarrow +\infty} \frac{5}{x} + \lim_{x \rightarrow +\infty} \frac{7}{x^2}} - 7 &= \\
\sqrt[3]{8 + 0 + 0} + \sqrt{25 + 0 + 0} - 7 = 2 + 5 - 7 = 0
\end{aligned}$$

$$\begin{aligned}
f(x) &= \sqrt[3]{8x^3 + 3x + 1} + \sqrt{25x^2 + 5x + 7} - 7x \quad \begin{matrix} \Theta \acute{\epsilon}\tau\omega: -7x = -2x - 5x \end{matrix} = \\
&= \left(\sqrt[3]{8x^3 + 3x + 1} - 2x \right) + \left(\sqrt{25x^2 + 5x + 7} - 5x \right) \\
\sqrt[3]{8x^3 + 3x + 1} - 2x &= \sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} - 2x = \sqrt[3]{x^3} \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} - 2x \quad \begin{matrix} x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow \sqrt[3]{x^3} = x \end{matrix} = \\
x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} - 2x &= x \left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} - 2 \right)
\end{aligned}$$

Εχω:

$$\lim_{x \rightarrow +\infty} x = +\infty$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} - 2 \right) = \sqrt[3]{8 + \lim_{x \rightarrow +\infty} \frac{3}{x^2} + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} - 2 = \sqrt[3]{8 + 0 + 0} - 2 = 2 - 2 = 0$$

$$\sqrt[3]{8x^3 + 3x + 1} - 2x = \frac{\left(\sqrt[3]{8x^3 + 3x + 1} - 2x \right) \left[\left(\sqrt[3]{8x^3 + 3x + 1} \right)^2 + \sqrt[3]{8x^3 + 3x + 1} \cdot 2x + (2x)^2 \right]}{\left(\sqrt[3]{8x^3 + 3x + 1} \right)^2 + \sqrt[3]{8x^3 + 3x + 1} \cdot 2x + (2x)^2}$$

$$\begin{aligned}
& (\alpha - \beta)(\alpha^2 + \alpha\beta + \beta^2) = \alpha^3 - \beta^3 & \left(\sqrt[3]{8x^3 + 3x + 1} \right)^3 - (2x)^3 \\
& = & \frac{\left(\sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} \right)^2 + 2x \sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} + 4x^2}{8x^3 + 3x + 1 - 8x^3} = \\
& \frac{\left(\sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} \right)^2 + 2x \sqrt[3]{x^3 \left(8 + \frac{3}{x^2} + \frac{1}{x^3} \right)} + 4x^2}{x \left(3 + \frac{1}{x} \right)} & \stackrel{x \rightarrow +\infty \Rightarrow \sqrt[3]{x^3} = x}{=} \\
& \frac{\left(\sqrt[3]{x^3} \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2x \sqrt[3]{x^3} \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4x^2}{x \left(3 + \frac{1}{x} \right)} = \\
& \frac{\left(x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2x \cdot x \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4x^2}{x \left(3 + \frac{1}{x} \right)} = \\
& \frac{x^2 \left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2x^2 \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4x^2}{x \left(3 + \frac{1}{x} \right)} = \\
& \frac{x^2 \left[\left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2 \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4 \right]}{x \left(3 + \frac{1}{x} \right)} = \frac{1}{x} \frac{3 + \frac{1}{x}}{\left(\sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} \right)^2 + 2 \sqrt[3]{8 + \frac{3}{x^2} + \frac{1}{x^3}} + 4} \\
& \lim_{x \rightarrow +\infty} \left(\sqrt[3]{8x^3 + 3x + 1} - 2x \right) = \\
& \lim_{x \rightarrow +\infty} \frac{1}{x} \frac{3 + \lim_{x \rightarrow +\infty} \frac{1}{x}}{\left(\sqrt[3]{8 + \lim_{x \rightarrow +\infty} \frac{3}{x^2} + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} \right)^2 + 2 \sqrt[3]{8 + \lim_{x \rightarrow +\infty} \frac{3}{x^2} + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} + 4} = \\
& = 0 \cdot \frac{3 + 0}{\left(\sqrt[3]{8 + 0 + 0} \right)^2 + 2 \sqrt[3]{8 + 0 + 0} + 4} = 0 \\
& \sqrt{25x^2 + 5x + 7} - 5x = \sqrt{x^2 \left(25 + \frac{5}{x} + \frac{7}{x^2} \right)} - 5x = \sqrt{x^2} \sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} - 5x \stackrel{\sqrt{x^2} = |x|}{=}
\end{aligned}$$

$$|x| \sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} - 5x \stackrel{x \rightarrow +\infty \Rightarrow |x|=x}{=} x \left(\sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} - 5 \right)$$

Έχω:

$$\lim_{x \rightarrow +\infty} x = +\infty$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} - 5 \right) = \sqrt{25 + \lim_{x \rightarrow +\infty} \frac{5}{x} + \lim_{x \rightarrow +\infty} \frac{7}{x^2}} - 5 = \sqrt{25 + 0 + 0} - 5 = 5 - 5 = 0$$

$$\sqrt{25x^2 + 5x + 7} - 5x = \frac{(\sqrt{25x^2 + 5x + 7} - 5x)(\sqrt{25x^2 + 5x + 7} + 5x)}{\sqrt{25x^2 + 5x + 7} + 5x} \stackrel{(\alpha-\beta)(\alpha+\beta)=\alpha^2-\beta^2}{=} =$$

$$\frac{(\sqrt{25x^2 + 5x + 7})^2 - (5x)^2}{\sqrt{25x^2 + 5x + 7} + 5x} = \frac{25x^2 + 5x + 7 - 25x^2}{\sqrt{25x^2 + 5x + 7} + 5x} \stackrel{\sqrt{x^2}=|x|}{=} \frac{x \left(5 + \frac{7}{x} \right)}{|x| \sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} + 5x}$$

$$\stackrel{x \rightarrow +\infty \Rightarrow |x|=x}{=} \frac{x \left(5 + \frac{7}{x} \right)}{x \sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} + 5x} = \frac{\cancel{x} \left(5 + \frac{7}{x} \right)}{\cancel{x} \left(\sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} + 5 \right)} = \frac{5 + \frac{7}{x}}{\sqrt{25 + \frac{5}{x} + \frac{7}{x^2}} + 5}$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt{25x^2 + 5x + 7} - 5x \right) = \frac{5 + \lim_{x \rightarrow +\infty} \frac{7}{x}}{\sqrt{25 + \lim_{x \rightarrow +\infty} \frac{5}{x} + \lim_{x \rightarrow +\infty} \frac{7}{x^2}} + 5} = \frac{5 + 0}{\sqrt{25 + 0 + 0} + 5} = \frac{5}{2 \cdot 5} = \frac{1}{2}$$

$$\lim_{x \rightarrow +\infty} f(x) = \lim_{x \rightarrow +\infty} \left[\left(\sqrt[3]{8x^3 + 3x + 1} - 2x \right) + \left(\sqrt{25x^2 + 5x + 7} - 5x \right) \right] =$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt[3]{8x^3 + 3x + 1} - 2x \right) + \lim_{x \rightarrow +\infty} \left(\sqrt{25x^2 + 5x + 7} - 5x \right) = 0 + \frac{1}{2} = \frac{1}{2}$$

5.

Δίνεται η συνάρτηση $f(x) = \sqrt[3]{27x^3 + 1} - \sqrt{9x^2 + 5}$. Να βρεθεί το όριο $\lim_{x \rightarrow +\infty} f(x)$

$$f(x) = \sqrt[3]{27x^3 + 1} - \sqrt{9x^2 + 5} = \sqrt[3]{x^3 \left(27 + \frac{1}{x^3} \right)} - \sqrt{x^2 \left(9 + \frac{5}{x^2} \right)} =$$

$$\stackrel{x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow \sqrt[3]{x^3} = x}{\sqrt{x^2} = |x|} = x \sqrt[3]{27 + \frac{1}{x^3}} - |x| \sqrt{9 + \frac{5}{x^2}} \stackrel{x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow |x|=x}{=} =$$

$$x \left(\sqrt[3]{27 + \frac{1}{x^3}} - \sqrt{9 + \frac{5}{x^2}} \right)$$

Έχω:

$$\lim_{x \rightarrow +\infty} x = +\infty$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt[3]{27 + \frac{1}{x^3}} - \sqrt{9 + \frac{5}{x^2}} \right) = \sqrt[3]{27 + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} - \sqrt{9 + \lim_{x \rightarrow +\infty} \frac{5}{x^2}} = \sqrt[3]{27+0} - \sqrt{9+0} = 3-3=0$$

$$f(x) = \sqrt[3]{27x^3+1} - \sqrt{9x^2+5} = \sqrt[3]{27x^3+1} - 3x + 3x - \sqrt{9x^2+5} =$$

$$\left(\sqrt[3]{27x^3+1} - 3x \right) - \left(\sqrt{9x^2+5} - 3x \right)$$

$$\sqrt[3]{27x^3+1} - 3x = \sqrt[3]{x^3 \left(27 + \frac{1}{x^3} \right)} - 3x = \sqrt[3]{x^3} \sqrt[3]{27 + \frac{1}{x^3}} - 3x \stackrel{x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow \sqrt[3]{x^3} = x}{=} =$$

$$x \sqrt[3]{27 + \frac{1}{x^3}} - 3x = x \left(\sqrt[3]{27 + \frac{1}{x^3}} - 3 \right)$$

Eχω:

$$\lim_{x \rightarrow +\infty} x = +\infty$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt[3]{27 + \frac{1}{x^3}} - 3 \right) = \sqrt[3]{27 + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} - 3 = 3 - 3 = 0$$

$$\sqrt[3]{27x^3+1} - 3x = \frac{\left(\sqrt[3]{27x^3+1} - 3x \right) \left[\left(\sqrt[3]{27x^3+1} \right)^2 + \sqrt[3]{27x^3+1} \cdot 3x + (3x)^2 \right]}{\left(\sqrt[3]{27x^3+1} \right)^2 + \sqrt[3]{27x^3+1} \cdot 3x + (3x)^2}$$

$$\stackrel{(\alpha-\beta)(\alpha^2+\alpha\beta+\beta^2)=\alpha^3-\beta^3}{=} = \frac{\left(\sqrt[3]{27x^3+1} \right)^3 - (3x)^3}{\left(\sqrt[3]{x^3 \left(27 + \frac{1}{x^3} \right)} \right)^2 + 3x \sqrt[3]{x^3 \left(27 + \frac{1}{x^3} \right)} + 9x^2} =$$

$$\frac{27x^3+1-27x^3}{\left(\sqrt[3]{x^3} \sqrt[3]{27 + \frac{1}{x^3}} \right)^2 + 3x \sqrt[3]{x^3} \sqrt[3]{27 + \frac{1}{x^3}} + 9x^2} \stackrel{x \rightarrow +\infty \Rightarrow |x|=x}{=} =$$

$$\frac{27x^3+1-27x^3}{\left(x \sqrt[3]{27 + \frac{1}{x^3}} \right)^2 + 3x \cdot x \sqrt[3]{27 + \frac{1}{x^3}} + 9x^2} = \frac{1}{x^2 \left(\sqrt[3]{27 + \frac{1}{x^3}} \right)^2 + 3x^2 \sqrt[3]{27 + \frac{1}{x^3}} + 9x^2} =$$

$$\frac{1}{x^2 \left[\left(\sqrt[3]{27 + \frac{1}{x^3}} \right)^2 + 3 \sqrt[3]{27 + \frac{1}{x^3}} + 9 \right]} = \frac{1}{x^2 \left(\sqrt[3]{27 + \frac{1}{x^3}} \right)^2 + 3 \sqrt[3]{27 + \frac{1}{x^3}} + 9}$$

$$\lim_{x \rightarrow +\infty} \left(\sqrt[3]{27x^3+1} - 3x \right) = \lim_{x \rightarrow +\infty} \frac{1}{x^2} \frac{1}{\left(\sqrt[3]{27 + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} \right)^2 + 3 \sqrt[3]{27 + \lim_{x \rightarrow +\infty} \frac{1}{x^3}} + 9} =$$

$$= 0 \cdot \frac{1}{(\sqrt[3]{27+0})^2 + 3\sqrt[3]{27+0} + 9} = 0$$

$$\sqrt{9x^2+5}-3x = \sqrt{x^2\left(9+\frac{5}{x^2}\right)}-3x = \sqrt{x^2}\sqrt{9+\frac{5}{x^2}}-3x \stackrel{\sqrt{x^2}=|x|}{=} |x|\sqrt{9+\frac{5}{x^2}}-3x \stackrel{x \rightarrow +\infty \Rightarrow x > 0 \Rightarrow |x|=x}{=} x\sqrt{9+\frac{5}{x^2}}-3x = x\left(\sqrt{9+\frac{5}{x^2}}-3\right)$$

$$x\sqrt{9+\frac{5}{x^2}}-3x = x\left(\sqrt{9+\frac{5}{x^2}}-3\right)$$

Εχ ω :

$$\lim_{x \rightarrow +\infty} x = +\infty, \lim_{x \rightarrow +\infty} \left(\sqrt{9+\frac{5}{x^2}}-3\right) = \sqrt{9+\lim_{x \rightarrow +\infty} \frac{5}{x^2}}-3 = 3-3 = 0$$

$$\sqrt{9x^2+5}-3x = \frac{(\sqrt{9x^2+5}-3x)(\sqrt{9x^2+5}+3x)}{\sqrt{9x^2+5}+3x} = \frac{(\sqrt{9x^2+5})^2-(3x)^2}{\sqrt{9x^2+5}+3x} =$$

$$= \frac{9x^2+5-9x^2}{\sqrt{9x^2+5}+3x} \stackrel{\sqrt{x^2}=|x|}{=} \frac{5}{|x|\sqrt{9+\frac{5}{x^2}}+x} \stackrel{x \rightarrow +\infty \Rightarrow |x|=x}{=} \frac{5}{x\sqrt{9+\frac{5}{x^2}}+x} = \frac{1}{x} \frac{5}{\sqrt{9+\frac{5}{x^2}}+1}$$

$$\lim_{x \rightarrow +\infty} (\sqrt{9x^2+5}-3x) = \lim_{x \rightarrow +\infty} \frac{1}{x} \frac{5}{\sqrt{9+\lim_{x \rightarrow +\infty} \frac{5}{x^2}}+1} = 0 \cdot \frac{5}{\sqrt{9+0}+1} = 0$$

$$\lim_{x \rightarrow +\infty} f(x) = \lim_{x \rightarrow +\infty} (\sqrt[3]{27x^3+1}-3x) - \lim_{x \rightarrow +\infty} (\sqrt{9x^2+5}-3x) = 0-0 = 0$$

ΑΣΚΗΣΕΙΣ

1.

Δίνεται η συνάρτηση $f(x) = \sqrt[3]{27x^3+5x^2+3}-3x$. Να βρεθεί το όριο $\lim_{x \rightarrow +\infty} f(x)$

2.

Δίνεται η συνάρτηση $f(x) = \frac{\sqrt[3]{64x^3+x+2}-4x}{x+1}$. Να βρεθεί το όριο $\lim_{x \rightarrow +\infty} f(x)$

3.

Δίνεται η συνάρτηση $f(x) = \frac{\sqrt[3]{27x^3+3x^2+5}-3x}{\sqrt{4x^2+1}-2x}$. Να βρεθεί το όριο $\lim_{x \rightarrow +\infty} f(x)$

4.

Δίνεται η συνάρτηση $f(x) = \sqrt[3]{64x^3+1} + \sqrt{25x^2+3} - 9x$. Να βρεθεί το όριο $\lim_{x \rightarrow +\infty} f(x)$

5.

Δίνεται η συνάρτηση $f(x) = \sqrt[3]{64x^3+1} - \sqrt{16x^2+3}$. Να βρεθεί το όριο $\lim_{x \rightarrow +\infty} f(x)$